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Torr Micron Psi K C °F
Pa ( N/m?) bar mbar atm inch?
1 - - <mmH9>3 | (mTorr) - (off '“Ch: 1K= |1 ‘C+273.15 | 5/9(°F+459.67)
a= B ) ) ) |~
! E 1 : 1x10 1><1o3 7.5><1o2 7.5 ! 9.87x10 1 1.45><1o1 1o | k2735 ] 519(F-32)
ar= 1x10 1 1x10 7.5%10 7.5%10 9.87x10 1.45x10 Tr= | oBKkasesr | o5C32 | 1
1 mbar= 1x102 1x1073 1 7.5%x10°1 | 7.5%102 9.87x10* 1.45%x1072
1 Torr= 1.33x102 1.33x10° 1.33 1 1x103 1.32x10 1.93x102 KEBRM SR
1 micron= 1.33x10°1 1.33%10¢ 1.33x103 1x103 - 1.32x10¢ 1.93x10°% m P n
= 5 3 2 5 1
tam 1_o1x1o3 1.01 2 1.o1><1o1 7.6x10 1 7.6x10 ! 1 . 14710 1 m= 1 3.28 39.37
1 psi= 6.89%x10 6.89x10 6.89%x10 5.17x10 5.17x10 6.8x10 1 P 0.31 1 12.00
HRPAIRER mESfRRBEAIRER 1 in= 0.025 0.083 1
. . 3 . . . = vz
Us L/min mdh cft/min Pa-m’s | mbarl/s Torrls | atm-cm¥s | sccm BERMREER
- . 2
1 Ls= 1 60 3.60 2.12 1 Parm’fs= |1 |10 7.5 9.87 5.92x10 Kg b oz
1 Umin= | 1.67x102 | 1 6x107? 3.54x10% 1 mbarl/s= | 1.0x10" | 1 7.5x10" | 9.87x10" | 5.92x10' 1 Kg= 1 220 35.07
- - 1 -~ - -1
1 m¥h= 2.8x10" | 1.67x10 1 5.9x10°" 1 Torrlfs= | 1.33x10" | 1.33 1 1.32 7.89x10" 1 Lb= 045 1 16.00
1 cft/min=| 4.7x10" | 2.83x10’ 1.69 1 1 scem= 1.69x10% | 1.69x102 | 1.27x102 | 1.67x102 | 1 1 02= 0.028 0.06 1
s/ —] —]
20°C ESHRREEN TS FEIBEHE TREE TS FEE
P(Torr) 1 108 10+ 10 10 10° P(Torr) 1 107 10 10 10 10°
Acm) 4.72x10° 4.72 47.2 472 4720 4.72x10° no(1Mem?) 4x10'6 4x10% | 4x10? | 4x10"" | 4x10'0 4x107
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BEFREREEAR HERE/mEAR
T=(V/S)x2.303xlog(P1/P2) T=8V/S

T: HISEE (s), Vi RHEBEASRA (L), S: #HSEE (L/s), P1: IAEN(Pa), P2: IKRIEN (Pa).

fign:
1.100 FHiEMR, FE10 DENKSHE 20Pa, IfAEEETR?
S=(V/T)x2.303xlog(P1/P2)
=(100/10)x2.303xl0g(100000/20)
=10x2.303%3.699=85(L/min)
=1.42 (L/s), BESEFAL/SHNEZR.
2.100 FHRz{K, FA8L/s EZR, MNASHHEI 200Pa, FESKATE?
T=(V/S)x2.303xlog(P1/P2)
=(100/8)x2.303xl0g(100000/200)
=77s, MSIATETTR.

VAR (L), S:MSEE (L/s) (EAASE133PaE/5EE) . flu:
100 FHEE(K, F8L/SEZ=R, MASHIE] 133Pa, FEAZ KA E?
T=8V/S=8x100/8 =100s, HSAEFE100),

ESREHSENETENRE

HEITEZEP~100000x(1-¢/0.1)Pa, ¢ : EEFREHMNEII@E, F:
EERIEHN-0.075, NHEIFE=EP=100000x(1-0.075/0.1)=25000Pa
EEREHH-0.097, NEIFEZEP=100000x(1-0.097/0.1)=3000Pa

B FIEHN-685mmHg, NHBIFTEZEP=100000x(1-685/760)=10000Pa
BEEREHN-700mmHg, WHBITEZEP=100000x(1-700/760)=8000Pa
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Rk www.geowell.com.cn
pFE: info@geowell.com.cn @
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